
��� PCI/PLC � DeviceNet ���
Rhino� SD/XD �	
�

P/N 7593158B - Chinese -

���： 7593158B� 2005 Nordson Corporation �� 2/05

��  

���1。Rhino SD ��	�
���
����，
�	�
�����������
�。

�� Allen Bradley ����� IFM Efector � ��
	�。! "#���	�$��%�&'�(�
DeviceNet I/O )*��&。

��：

� +,-�
�、./0�1��，'2��

DeviceNet I/O )*��&�����	�3
��。

� 4�+�5.�
6，7��89:;-<��

5�=。

R

L+

1

2

4

3

L-12

3 4

ALLEN BRADLEY ������	� IFM EFECTOR ��	�

4：>� 1

2：>� 2

?@1 ?@4?@3?@2

AB�
C#5.� M12 X 1

AB�
C#5.� M12 X 1

� 1 ��	�



D&� PLC/PCI � DeviceNet E&� Rhino SD/XD ��	�2

���： 7593158B � 2005 Nordson Corporation�� 2/05

��	
��  

F��GHIJ��	�。

   
�   

!"K�L#MNOP�$%。7FQ:&'R
�:()�S*TUVOW+。

IFM Efector �	
�   

��� 2。F��GHXY��	�：

1. Z��	�[+。

2. I\.[]、^+]、.[_`、^+_`�>� 1 
�,：

a. F���/��，a-bcdef�：

��：
F6��g，hi 5 jk:，bcl;�
,m<	no=。

b. F6��，a-bcde,：

c. F���/��。pIJq,，-:��	�rs
-W+f�。

d. t!>,uvGH a - c。

3. wx\'yxIJ，ew?gF6��/�����，
�z{ 10 jk。LED |}~��。

��：
7���@y� 2 dc���Tc。

Allen Bradley �
���	
�  

��	��G��I\H 20 psi，������o。
7F������IJ��，p��J��	�;��。

PSI

.[]

.[_`

^+]

^+_`

I\]：13% (19.5 psi)

IJ：10% (15 psi)

IJ：0 j

IJ：0 j

>� 1

`�f�：�	

�����

����

SC1 ��：

	�>� 1 ��。

OL ��：

����；89��h��h�\��� 110%。

>� 1：��LED
I�	�gV1

IJ
>� 2：��&

IJ：IJ��

f�：��def�
>W：��IJ

f�/>W

� 2 IFM Efector ��	�IJ



D&� PLC/PCI � DeviceNet E&� Rhinor SD/XD ��	� 3

���： 7593158B� 2005 Nordson Corporation �� 2/05

��  

��� 3 � 4。w ¡¢(，7�£
Z[¤¥¦%)
§'¨©ª�£
Z[\«¬8。

IFM Efector �	
�  

7��� 3 ��­�®¢(«。

1
2

3

4

7

9

4

8

5
6

5
6

11 12
13

10

16

16
14
15

16

¢( 2 ¯]

� 3 Rhino SD IFM Efector ��	�

�� P/N P/N �� �� �!

— 1040144 — Module, pressure switch, Efector, 24 VDC, micro 1

— — 1057284
Module, pressure switch, Efector, 24 VDC, micro,
without DeviceNet cable

1

1 1010810 1010810 � Tubing, 1/4 O.D. polyethylene, flame resistant 3 ft

2 971266 971266 � Elbow, male, 0.25 tube x 0.25 NPT 1

3 1040090 1040090 � Switch, pressure, Efector 1

4 981211 981211 � Screw, hex, 1/4‐20 x 0.75, cap 2

5 983140 983140 � Washer, lock, 1/4 2

6 984130 984130 � Nut, hex, heavy, 1/4‐20 2

7 1046023 — � Cable, assembly, 4 conductor, 1M, male/female, 18 AWG, 300V 1

8 1025108 1025108 � Screw, drive, 4 x 0.312 2

9 1039019 1039019 � Label, pressure switch 1

10 228628 228628 � Tee, street steel, 3/4 NPTF 1

11 973668 973668 � Nipple, 3/4 x 4 plain 1

12 973417 973417 � Bushing, pipe, 3/4 x 3/8 1

13 972216 972216 � Elbow, male, 1/4 tube x 3/8 NPT 1

14 1046236 — � Label, cable, air pressure switch 2

15 939110 — � Strap, cable, 0.875 diameter 2

16 900481 900481 � Adhesive, pipe AR

AR： As Required：Few



D&� PLC/PCI � DeviceNet E&� Rhino SD/XD ��	�4

���： 7593158B � 2005 Nordson Corporation�� 2/05

Allen Bradley �
���	
�  

7��� 4 ��­�®¢(«。

11 12
13

2
3

4

9

8

10

5

1

16

14
15

6
7

16

16

¢( 2 ¯]

� 4 Allen Bradley ������	�

�� P/N P/N �� �� �!

— 1038996 — Module, pressure switch, pneumatic 1

— — 1057255 Module, pressure switch, pneumatic, without DeviceNet cable 1

1 225777 225777 � Pressure switch assembly 1

2 1010810 1010810 � Tubing, 1/4 O.D. polyethylene, flame resistant 3 ft

3 971266 971266 � Elbow, male, 0.25 tube x 0.25 NPT 1

4 1046023 — � Cable, assembly, 4 conductor, 1M, male/female, 18 AWG, 300V 1

5 981557 981557 � Screw, socket, 1/4‐20 x 1.75 2

6 983140 983140 � Washer, lock, 1/4 2

7 984130 984130 � Nut, hex, heavy, 1/4‐20 2

8 1025108 1025108 � Screw, drive, 4 x 0.312 2

9 1039019 1039019 � Label, pressure switch 1

10 228628 228628 � Tee, street steel, 3/4 NPTF 1

11 973668 973668 � Nipple, 3/4 x 4 plain 1

12 973417 973417 � Bushing, pipe, 3/4 x 3/8 1

13 972216 972216 � Elbow, male, 1/4 tube x 3/8 NPT 1

14 1046236 — � Label, cable, air pressure switch 2

15 939110 — � Strap, cable, 0.875 diameter 2

16 900481 900481 � Adhesive, pipe AR

AR： As Required：Few

^n°+±²³ 2004。Nordson、Nordson(´�Rhinoµ£
Z[�¶_·(。

�¸d4·(¹�Gºd4。
- "#$%&$ -


